Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

=
O1

=
o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

L ®

iy

]

1 70: 14.6%
] Z0jjjj : 14.6%
1 Z0jjj : 22%

1 70jj : 24.4%

1
_k
| |

1

2

AQ(1,)2) (radians)



Number of Events

_ _ o Pythia_ref
3] 1mu+lpmiss B Other

10 77 70 :14.6%

[ ZOjjjj : 14.6%

- | | 1 Z0jjj : 22%

[ 1] Z0jj:24.4%

L

0 1 2
A@(jl,pmiss) (radians)



Number of Events

=
o

3jlmu+lpmiss

In
.

L

e Pythia ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

—@—

il

sl &

1

4

1

2

A@(2,pmiss) (radians)

3




Number of Events

N
o

=
o

3jlmu+lpmiss

B Other

Pythia_ref

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

[
HN “\ [ ]
gl g

.

(1]

| [

(1] T

||
500 1000
M(u*.j2,)3) (GeV)



Number of Events

30

N
)

=
o

3jlmu+lpmiss

1]

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

: ]y
L |l
hl ML
| T|TJ l| |
1, LT | P I I 5 PR
0 5 10 15 20

minMass(j) (GeV)




Number of Events

3jlmu+lpmiss

o
|

—0—

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ ] Z|Ojj : 24.4%

M][I!

i

0

05
angle(plane(beam,jl),plane(j2,;3)) (radians)

-l
1 1.5




Number of Events

3jlmu+lpmiss

e Pythia_ref
B Other

15

=
o
T T 1 | T T 1 | T T 1 | T

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

]

=

AR(j1,j3)



Number of Events

=
o

_ _ e Pythia_ref
3JImu+lpmiss B Other

71 70:14.6%

- 1 Z0jjjj : 14.6%

— [ Z0jjj : 22%
I | 70jj: 24.4%
L g

Al ] N N BNEN B

0 1 2

A@(”,j2) (radians)



Number of Events

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
[ 1 Z0jjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%




Number of Events

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
[ 1 Z0jjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
L1 Z0Ojjjj : 14.6%
1 Z0jjj : 22%

1 70jj : 24.4%
|

—@—

—@—




Number of Events

10

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
Dl Z0jj : 24.4%

—@—

—@—

|1 detEta



Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

- I 700 14.6%
i 1 Z0jjj  14.6%
- 1 Z0jj : 22%
- [ 12Z0jj:24.4%
30
20~
10/ |
(T Y
I L 1L,
O_ e T [eandp R e
100 200 300 400

Mt(j2,pmiss) (GeV)




_ _ o Pythia_ref
3JImu+lpmiss B Other

N
o

Number of Events
H
o

1 Z0jjjj : 14.6%
1 Z0jjj : 22%
] Z0jj : 24.4%

71 70:14.6%

+—

| |
= e
sninl

[
| IJ. J-I | || IJ. | |

30 40 50
J3p_(GeV)



Number of Events

W
o
T T 1 | I | [ N | [

N
o

=
o

3jlmu+lpmiss

Pythia_ref
B Other

Il

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

I T T T
| 1 Ll |

| 200
11p_ (GeV)



_ _ Pythia_ref
3Jimu+lpmiss B Other

N
o
1T T 1 | T T 1 | 1T T 1 | T T | T T 1

=
O1

Number of Events
H
o

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%




_ _ e Pythia_ref
3Jimu+lpmiss B Other

N
o

Number of Events
H
o

1 Z0jjjj : 14.6%
] Z0jj : 22%
1 70jj : 24.4%

71 70:14.6%

[T el
t Fa P P e b . dh
0 200 400 600

M(u*,j1) (GeV)




Number of Events

3jlmu+lpmiss

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

15— |

0~ [k

S R LR

5__1 ﬂ: "

P A

Oi ol .%i| } . &_h
0 50 100 150

W P (GeV)




Number of Events

3jlmu+lpmiss

B Other

e Pythia_ref

- 70 - 14.6%
i ] Z0jjji : 14.6%
- 1 Z0jj : 22%
30— [ 1 70jj:24.4%
201
10—
} s P!
u —0—“ J
| | [T
- ¢ T T T T i i
O L 1 | M 1 Bl hdl
500 1000

M(W,j1) (GeV)




Number of Events

N
)

=
o

_ _ Pythia_ref
3JImu+lpmiss B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

41ﬁﬂ+rlkﬂ Tt T

500 1000
M(u*.j1,2) (GeV)




Number of Events

40

30

20

10

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
] Z0jjjj : 14.6%
1 Z0jjj : 22%

W pz (GeV)

- 120 : 24.4%

~ X

i s L

- i FLII_III_T == aaP e

|I_§—I I I I |l l| I | 11 | I . I ’__H
-2000 0 2000



Number of Events

N
o

=
o

_ _ Pythia_ref
3Jimu+lpmiss B Other

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

e |
- ill IS .

M(W,j1,j2) (GeV)

] L] 1 ] | I ] I 11
| 1 BN [ ] 0 I I [T T Il
500 1000 1500




Number of Events

N
o

i

=
o1

=
o

3jlmu+lpmiss

Pythia_ref
B Other

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%




Number of Events

N
o

=
o

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

M(j3) (GeV)



Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

B 1 70:14.6%
1 Z0jjjj : 14.6%
301 1 Z0jjj : 22%
I ] Z0j : 24.4%
20_— "
101 ]
-
il P Tt b b
500 1000 1500

M(W,j2,]3) (GeV)




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
1 Z0jjj : 14.6%
[ 1 Z0jjj : 22%

1 70jj : 24.4%
|

—@—

i

j1o@(radians)




Number of Events

W
o
T 1 [ | [ T 1 | I [ | [

N
)

=
o

3jlmu+lpmiss

i

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

]
*\1TTTT
0 200 400 60 800

M(u*,)2) (GeV)




Number of Events

=
o

_ _ o Pythia_ref
3] Imu+lpmiss B Other

1 70: 14.6%
] Z0jjjj : 14.6%
1 Z0jjj : 22%

1 70jj : 24.4%
|

—@—

1 2
A@p,pmiss) (radians)



Number of Events

=
o

3jlmu+lpmiss

e Pythia_ref
B Other

71 70:14.6%

1 Z0jjj : 22%
1 70§ : 24.4%

1 Z0jjjj : 14.6%

! 1,




Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

1 70 14.6%

15 ) ZOjjjj : 14.6%

. ] Z0jjj : 22%

i : [ ] Z0jj : 24.4%
10 1 1
o ™ |

o W B
o T LY

1 2 3 4



Number of Events

15

=
o

_ _ e Pythia_ref
3] Imu+lpmiss B Other

71 70:14.6%

1 Z0jjj : 22%
1 70§ : 24.4%

1 Z0jjjj : 14.6%

0 1 2

AQ(2,]3) (radians)




Number of Events

=
o

3jlmu+lpmiss

Pythia_ref
B Other

I

L — = L@

|
i

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

-

1
MINAPhI(],pmiss) (radians)

2



Number of Events

N
o

=
o1

=
o

3jlmu+lpmiss

I

]

il

Il

Pythia_ref
B Other
1 70: 14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

il ]

.

10

20

M(j1) (GeV)

30 40



Number of Events

=
o

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
1 Z0jjjj : 14.6%

N[ Z0jj : 22%

1 70jj : 24.4%

WL Ll

pha e

2

A@(3,pmiss) (radians)



Number of Events

15

=
o

_:+ ;

Pythia_ref

3jlmu+lpmiss B Other

1 70: 14.6%
] Z0jjjj : 14.6%
] ZOjjj : 22%
[ 1] Z0jj:24.4%

il
T
400

sumPt (GeV)




Number of Events

=
o

3jlmu+lpmiss

Pythia_ref
B Other

1 70:14.6%
] Z0jjjj : 14.6%
] Z0jj : 22%
| 70jj: 24.4%

—@—

AR(j1,2)




Number of Events

40

30

20

10

3jlmu+lpmiss

e Pythia_ref
B Other

|

[ TU

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

jT

500
M(W,j2) (GeV)




Number of Events

AN
)

N
o

3jlmu+lpmiss

B Other

e Pythia_ref

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

1

= =
100
J2p_(GeV)

L
150




Number of Events

=
o

_ _ o Pythia_ref
3JImu+lpmiss B Other

1 70: 14.6%
1 Z0jjjj : 14.6%

| [ 1 Z0jjj : 22%

1 70jj : 24.4%
| :

—@—

1 2
A@(1,]3) (radians)



Number of Events

N
o

=
o1

=
o

3jlmu+lpmiss

Ern

8

Pythia_ref
B Other
1 70: 14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

Y

I

500

| |
1000 15

M(p*,j1,)2,)3) (GeV)

L
00




Number of Events

40

30

20

10

3jlmu+lpmiss

Pythia_ref
B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

;
|

1000
M(u*,)3) (GeV)



Number of Events

N
)

TL-

=
O1

=
o

3jlmu+lpmiss

B Other

.

e Pythia_ref

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

[
Wly am g

100
1 p, (GeV)




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

=

k
—

-2

[l
g

pmiss @ (radians)




Number of Events

Pythia_ref

3jlmu+lpmiss B Other

N W
o o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

=
o

||

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

| |

—@—

|

1 ]
| | 'ﬂ-Hll I I
% 200 400 600 300

M(j1,i3) (GeV)



Number of Events

S
|IIII|IIII|II

=
o1

=
o

3jlmu+lpmiss

Pythia_ref
B Other

il

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

SN el

; \I_.!jl

SUSEET e MuadsnBlnETis
500 1000 1500

M(all) (GeV)




Number of Events

40

30

20

10

3jlmu+lpmiss

Pythia_ref
B Other

s
HI

1 70: 14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

- |
L lllTITHITTTT
| | L0 1 1 "1,

500

| | | | -
1000 1500
M(W.,j3) (GeV)




Number of Events

N
)

=
o

3jlmu+lpmiss

e Pythia_ref
B Other

71 70:14.6%

] Z0jjj : 22%
] Z0jj : 24.4%

1 Z0jjjj : 14.6%

o

|
11, [

20 30
M(j2) (GeV)




Number of Events

=
o

_ _ e Pythia_ref
3JImu+lpmiss B Other

1 70: 14.6%
- ] Z0jjjj : 14.6%
- ] 20jj: 22%

1 70jj : 24.4%
0jj : 2

—@—

-

il

IYikaag’ ¥ il

_|" | |l. l|
2

A@(”,j3) (radians)



Number of Events

S
|IIII|IIII|II

=
o1

=
o

3jlmu+lpmiss

IA
Lt

|

i

"

I

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

| | | | L

1
100

200

300 400

Mt(j1,pmiss) (GeV)




_ _ Pythia_ref
3JImu+lpmiss B Other

W
o

N
o

Number of Events
H
o

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

—_—
R ——
—
—

| | Lo | | | Hhdld
500 1000 1500
M(1,)2,)3) (GeV)



Number of Events

N
o

=
o

3jlmu+lpmiss

B Other

I

e Pythia_ref

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

[ 1
|J Ll Tl |

100
P (GeV)




_ _ e Pythia_ref
3Jimu+lpmiss B Other

N
o

Number of Events
H
o

1 Z0jjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1 70jj:24.4%

71 70:14.6%

mTT T
|

| CLOTITY I FI_I“
50 100
clusteredObjectsRecoll p. (GeV)



_ _ Pythia_ref
3Jimu+lpmiss B Other

N W
) o

Number of Events
H
o

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

Lt

TTT T T
L mn e Haal

500 1000
M(1,)2) (GeV)

o_l [ [ | [ T 1 | I [ | [




Number of Events

15

10

3jlmu+lpmiss

I

Pythia_ref
B Other
1 70:14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ ] Z|Ojj : 24.4%

i

11, W Vl

0

1

Ll

3

atan2(APhi(j2,]3),+-(j2 eta-|3 eta))




Number of Events

: : e Pythia_ref
3]lmu+lpmiss BN Other

— 00 70 : 14.6%

__ __ | 1 Z0jjjj : 14.6%

i ] ZOjjj : 22%

[ 1 Z0jj:24.4%
. —

—@—

T S - - - 1 _ B
—8— o

]2 @ (radians)



Number of Events

10

_ _ o Pythia_ref
3JImu+lpmiss B Other

71 70:14.6%

] Z0jjj : 22%

1 Z0jjjj : 14.6%

1 70jj : 24.4%
|

—@—

by

4

0

0 2
U™ ¢ (radians)




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
L1 Z0Ojjjj : 14.6%
1 Z0jjj : 22%

1 70jj : 24.4%
T 1

—@—




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70:14.6%
L1 Z0Ojjjj : 14.6%
1 Z0jjj : 22%

1 70jj : 24.4%
T 1

—@—




Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

=
O1

=
o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

AR(j2,j3)




Number of Events

Pythia_ref

3jlmu+lpmiss B Other

N W
o o
[ [ [ [ | [ [ [ [ | [ [ [ [ | [ [

=
o

1 70: 14.6%
] Z0jjjj : 14.6%
] ZOjjj : 22%
[ 1] Z0jj:24.4%

T
J T 1 T i
| | Ll J| ITT—I | | ITT—I |

.
100

200 300
Mt(j3,pmiss) (GeV)

400




Number of Events

3jlmu+lpmiss

Pythia_ref
B Other

B " 170:14.6%

I 1 Z0jjji : 14.6%

B 1 Z0jjj : 22%
15__ [ 1 70jj:24.4% -
10+ 1 |

5~ ot

L i [ i | o

1L L -

ST T T nkmnlll
1 1.5 2.5

maxAPhi(j,pmiss) (radians)




Number of Events

=
o

3jlmu+lpmiss

Pythia_ref
B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

T

—M%_ | [

18

2

A

AEta(j2,j3)



Number of Events

10

3jlmu+lpmiss

o

e Pythia ref
B Other
1 70: 14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ ] Zlej : 24.4%

—@—




Number of Events

10

3jlmu+lpmiss

e Pythia ref
B Other
1 70: 14.6%
[ 1 Z0jjjj : 14.6%
[ 1 Z0jjj : 22%
[ ] Zlej : 24.4%

—@—




Number of Events

10

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%

Dl Z0jj : 24.4%

—@—

i

]3 @ (radians)




Number of Events

N
o

=
O1

=
o

3jlmu+lpmiss

Pythia_ref
B Other

1 70:14.6%
1 ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

[

L
100

200 300
Mt(u*,pmiss) (GeV)




Number of Events

Pythia_ref

3jlmu+lpmiss B Other

30

N
)

=
o

———

[

1 70: 14.6%
] Z0jjjj : 14.6%
] ZOjjj : 22%
[ 1] Z0jj:24.4%

W

[ ]
| | |

||
500 1000
M(u*,j1,3) (GeV)




Number of Events

40

30

20

10

3jlmu+lpmiss

||

\

T
1

Pythia_ref
B Other
1 70: 14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

:

B

[ |
4I|—|_{—\||_||’_IL||_§—|I_||

20

11
! L

400

600

M(j2,i3) (GeV)




Number of Events

=
o

3jlmu+lpmiss

e Pythia_ref

B Other

1 70: 14.6%
1 ZOjjjj : 14.6%
] Z0jjj : 22%
[ 1] Z0jj:24.4%

L

1




Number of Events

S
|IIII|IIII|II

=
o1

=
o

3jlmu+lpmiss

|

I

|
palis

1
| |

[__

m

Pythia_ref
B Other
1 70: 14.6%
] ZOjjjj : 14.6%
[ 1 Z0jjj : 22%
[ 1] Z0jj:24.4%

A@(”,j1) (radians)




Number of Events

W
o

I —

N
)

=
o

3jlmu+lpmiss

Pythia_ref
B Other

JR——

71 70:14.6%

1 Z0jjj : 22%
1 70§ : 24.4%

1 Z0jjjj : 14.6%

T\ [ ]
lT T 1
Ll ’llllllll

1

B!

[ ]

500

| L
1000 1500

M(W,j1,]3) (GeV)




Number of Events

100

o)
o

3jlmu+lpmiss

e Pythia_ref
B Other

1 70: 14.6%
] Z0jjjj : 14.6%
] Z0jjj : 22%

| [ z0j: 24.4%

0 0.5
uncl P (GeV)




